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152 — 252

— COS (g + x)

P(x) = —2x% + 10x
VA = 10

racines

P(x) =5x% —7x+3
A =

2 48y’

_ x8
f(x) = N
f'(x) =

(10
x50 (12x5)

x>0

D(j)etp(—lf)

—_—

FD

f(x) = —3x>—3x2% + 10x1°
F(x) =

{uo - 6
un+1 - un + 4
terme général

f'x) =
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— sin(—x)

—271+ 36+ 22i —5

P(x) = —5x% +1—9x
A =

f(x) = (6x% —9x3)(—10x + 9x°)
fx) =

li >
tiny (- %)

x<0

E(4; 4)et B(3; —6)
IBE|

; 1 9
f(x) =6x —F—le
F(x) =

{uo - _6
Up+1 = OUy
terme général

f(x) = (5x7 + 3x° — 7x3)*
f(x) =
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5 6
7 2
—Cos(x—g)

(—i+ 160 + 1)

P(x) =2x* +1—3x
A=

=52

f'x) =

x4

lim ’
x—1>r-|1-11 _X9>

u(6; 1) et v(—4; —6)
U-v

terme général

f(x) = (—8x3 + 7x8 4 5x°)3
flx) =
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19 x 21

— COS (g—X)

—41 + 21 + 35i + 5i

P(x) = 4x% + 12 + 16x
VA=8

racines

f(x) = (2x% + 9x2)(4x? + 10x)
fx) =

lim

X——00

16x%2 —12x + 6
—16x2 4+ 15x — 9

D (30)et4(5)

|4D])

f(x) =—10x — 10 + 10x?
F(x) =

{uo - _6
un+1 - un + 5
U7 =

f(x) = sin?(—9x + 4)
frx) =




47

2T
21 = 5;arg(2) = 5

7 =

P(x) = —18 + 3x? + 3x

VA = 15
racines
8x® +x—10
x ==
f(x) 6 vx

f'x) =

y 10x2 — 10x — 19
xotbo \ 8x2 — 12x + 17

E(g)etc(_95)

IGE|

f(x) = 6x3 — 4x? — 4x*
F(x) =

{uo - _3
un+1 - un + 5
terme général
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fx) = (6x9 + % + 5x4)
fl(x) =
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cos(m — x)

P(x) = —5x% — 5x
VA =5

racines

P(x) =x% +2+ 10x
A =

f(x) =10x* — x® — 4x
flx) =

L (—x + 18)
x—>19}7 x+ 17
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u-v

flx) = —%—4x3 — 10x°
F(x) =

{uo = _1
Un+1 = 8Up
U1 =

5
flx) = (—%Zx4 + 10x9)
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— COS (X — g)

z=v2—-2i
|z| ; arg(z)

P(x) = —4 +2x? +x
A=
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f(x) =F+F+1O\/§
F) =

1
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U(6; —3) et ¥(—8; —3)

u-v
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F(x) =

{uo == 9
Uppr = Uy — 1
U7 =

f(x) = (—3x°)7
fl(x)=
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16 X 24

Sin (x — g)

z=5+4+1
|z| =

P(x) = 5x + 3 — 3x?
A =

f(x) :F—9x5 — 8x?

f@) =

lim (—6x* — x?—6x+7)

X—>—00

{uo - _1
Upt1 = Up — 7
u, =

f(x) = (—9x3 — 4x + 6)°
f'(x) =
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(-2)(+3)

— cos(—x)
z=\2i+2
|z| ; arg(z)

P(x) = —7x + 2 — 4x?
A =

f(x) =6x3+ +x —7x*
fx) =

lim (—10x1° — 11x* — 6x2 — 7x)

x—-—1
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F(x) =
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un+1=un+8

terme général

f(x) = (—8x> + 7x°> — 3x7)7
fl(x) =
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— cos(—x)

3
|z| = 4;arg(z) = -

7 =

P(x) = 4x* —2x—3
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142

CoS (x + g)

(11 + 20)(11 — 20)

P(x) = 2x*> — 8x

VA =8
racines
-5 10

f)=—5—4x" ——
f'(x) =
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tng (~52)

x>0
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F(x) =

{uo - _2
Upt1 = Up — 6
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f(X) = (—6X5 +F - 2x5)
£ =
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32 X 28

— sin (x — g)

P(x) = 2x? + 24 — 14x
VA =2

racines

P(x) = 2x? + 24 — 14x
VA =2

racines

f(x) = (=10 vx + 9x8)(7x + 9 Vx)
f(x) =

. 5+x
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x<—-11

A(14O)etD(g)
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f(x) =9x® — 5x°? + 8x?2
F(x) =

{uO == 1
Upt1 = — Uy
terme général

f(x) = (3x> + x% — 10x10)3
flx) =
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6
1 7 .
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8 6 <o X
cos(—x) C(—24; 14)et D(14; 3)
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Z= F(x) =
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f,(X) = f’(x) =
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122 — 82

sin(r — x)

(8i —5)(—9 — 2i)

P(x) = —40x + 4x2 + 100
VA =0

racines

f(x) = (2x8 + 5x3)(7x1° + x)
fx) =

li 8
Jim (=)

H(IBS)etE(_Z116)

—_—

EH

f(x) =—4+8cosx — 3x*
F(x) =

{uo - _4
Un+1 = Uy
terme général

f(x) = (=7x7 — 7x* + 8x3)°
f(x) =
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33% — 272

— sin(—x)

P(x) = —3x%? —6+9x
VA =3

racines

P(x) = —3x%? —8x—4
A =

f(x) = (=8x + x19)(—8x2 — 5+x)
fix) =

I 0
x50 (12x5)

x>0

B(—4; 5)et F(—3; 3)
|IBE|

f(x) =8x>— 2sinx + 4x°
F(x) =

{uo - 1
Up+1 = —6Uy
terme général

f(x) = sin3(=5x — 4)
frx) =
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9
F) =
2

lim (—8x8 + 9x° + 5x3)

X—>+0oo

B(—=9; 3)et H(-3; 7)
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f(x) = 3x + x> + 8x3
F(x) =

{uo - 1
Un+1 = duy
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fl(x) =
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sin(—x)

(8 + 9{)(8 — 90)

P(x) = 3+ 5x* —8x
A=

flx) = —7x3 +E—i
- X

x9
f') =

lim (8x1% + 12x* — 5x3 + 5x)

X—+00

#(3; —9) et B(—8; —6)

u-v

fx) =2+x>+6x°

F(x) =
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Upi1 = Uy +1

terme général
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f(x) = (—6x7 — 10x10 + %)
frx) =
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15 X 25

Sin (x — g)

P(x) = 2x* — 18
VA =12

racines

P(x) = 2x* — 18
VA = 12

racines

li >
lim ()

D(-9; —4)et A(3; 3)
|AD|

f(x) = 4x7 — 8x> — 8x8
F(x) =

{uO == 8
Unt+1 = Uy
u1 ==

f(x) = sin®(—8 — 4x)
f(x) =
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1 5

2 10

— cos(m + x)

z=-9+409;
1z| =

Px)=x+x% -2
VA =3

racines

X

flix) =

f(x)=%+ 10&—1—8

(1
liny (=)

x>0

C(—1; —8)et F(—4; 4)
ICF]]

4 7
f(x) =8x7+x—+—

6 ' 8
F(x) =

{uo == 3
un+1 == un + 8
Ug =

f(x) = sin?(4 — 6x)
f(x) =
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342 — 2672
— cos (x — g)

(2 —20)(3i — 6)

P(x) = —2x% —9x+3
A =

f(x) = —7
Fx) =

li -
liny (552)

x<0

Uu(7; =1 etv(9; 9)

u-v

6
fx) = 6sinx+x4—ﬁ

F(x) =

{u0=_4‘
Upi1 = Uy + 4
Ug =

f(x) = cos’(—3x —6)
£ =
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172

sin(—x)

19 — 40i + 40 + 26i

P(x) = 2x? —8x

VA =8
racines
—2+/x
f(x) = 5 4
v3 49

X

X
f1(x) =

—x + 12
lim (—)

Xx—>—14 \—x — 14
x<-14

E—(ég ) et H (179 )
HE

f(x) =8—6x — 3x*
F(x) =

Up+1 = —dUp
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f(x) = cos*(—3x — 9)
fx) =
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28 X 32

cos(x — m)

z=-1-+3i
|z| ; arg(z)

P(x)=x? —x—2
VA =3

racines

9
f(x) =E+7cosx—

flix) =

3

x3

lim

X——00

—4x% —11x + 17
13x%2 4+ 8x + 15

F(7q)etc (%)

—_—
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2 9
flx) = —2x—F+8x
F(x) =

{uo - _10
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terme général

f(x) = (8x% + x8 + 7x°%)°
fx) =
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I
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O

— sin (g — x)

(=3 -=5)(—8i+7)

P(x) = —x? — 5+ 8x
A=

f(x) = (4x3 — 9x7)(—6x — 7 V/x)
fx) =

lim (—9x® —8x°> — 12x — 6)

A(g)etF(:g)

[FA]

f(x) =9x7 — 2x19 + 7sinx
F(x) =

Unt1 = 2Uy

U1 =

f(x) = (10x% — 4x10 + 7x°)>
f'(x) =
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(+18)(+20)

CoS (g + x)

z=-3+4i
|z| =

P(x) =3x% +12 — 15x
VA=9

racines

f(x) = (—6x?% + 2x)(—x — 9x19)
f'(x) =

lim (—3x3 +5x%—11x+7)

X—+00

u(10; —8) et v(—8; 2)

u-v

f(x) =x+9x + 2x°
F(x) =

{uo =10
Un+1 = —8Uy
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25 x 15

— COS (g—X)

(=6 — 1i)(—6 + 8i)

P(x) = —3x% +10x + 2
A =
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~t

f(x): 6

x8

| O

X

f'0) =

i !
lny (2)

x>0

b (—_213 Jet 4 (—2221 )

AD

f(x) =7x3+7x3 —%
F(x) =

{u0=5
Uns1 = Up — 2
Ug =

2 1\
f(x) = (—10x8 ~ 10 —;>
f'(x) =
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9 6
10 5
cos(x — m)

Qi+ 7)(-8i+7)

P(x) = —4x% + 16
VA =16

racines

f(x) = (9x° + 9x®) (—x* — 6x2)
fl(x) =

y —14x2 — 4x — 13
oo\ Z15%2 — 19% + 7

D(12; 11)et F(20; 18)
DF

10
f(x) =1+F—5x

F(x) =
{uo = _4‘
un+1 - un + 5

terme général

f(x) = (=3x° + 7x7 — 10x°)?
f'(x) =
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— sin (x + g)

P(x) =x% +8—6x
VA =2

racines

P(x) =5x% + 3+ 4x

I (—x—8)
x17 —17 +x

x>17

A (__244 ) et D (_32 )

AD

f(x)=—x1%—-5x"+5
F(x) =

{uO = 9
Upt1 = DUy
U1 =

f(x) = cos®(10 — 9x)
Fe) =




70

3 10

4 8

Sin (g — x)

P(x) = —4x + 2x% — 16
VA =12

racines

P(x) = —3 — 2x?
A=

f(x) = (10x — 7x°)(—8x + 2x3)
fx) =

y —17x% —8x — 12
o \ 15x2 — 10x + 20

H(17; —23)et G(—2; 19)
GH

f(x) = x1Y —5x3 — 2x8
F(x) =

{uo = 1
Un+1 = Uy
U1 =

f(x) = cos”(—7 + 8x)
fx) =
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24% — 162

— COS (X - g)

41T
|z| = 1;arg(z) = 3

7 =

P(x) = —-3x% +6x+9
VA = 12

racines
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HOE

li 0
tiny (- )
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DE
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F(x) =
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7 =
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A =
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F(x) =
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Uz =
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ul] U1
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— COS (g + x)

(5i + 2)(1 — 8i)

P(x) = 5x? — 60 + 5x
VA = 35

racines
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flx) =
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flx) = (—7x6 + = 2x7>
f1x) =




75

(10i + 5)(=1 — 1i)

P(x) = —x* +8x—15

VA =2
racines
6
7
fl) =2~
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f(x) = (—5x8 + 8x° — 10x8)°
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P(x) = —4 + x?
VA =4

racines
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fl(x) =
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f(x) =1—6x1°+49x*
F(x) =

{uo - 7
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Uis =

f(x) = (—9x° — 3x8)°
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5% 15

— cos(—x)

P(x) =—x? —6x—15
VA =4

racines

P(x) = —2x% +5+9x
A =

f(x) = (Vx — 4x)(—x3 — 5x2)
f'(x) =

_ x + 10
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D(19; 17)et E(11; 7)
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f(x) =—=7sinx + x°® + 2x1Y
F(x) =
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terme général

f(x) = (5x° — 5x10 + 8x8)°
f'(x) =
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3 3
6 10
T
sin (E—x)
z=v2—-2i
|z| ; arg(z)
P(x) = =15+ x? + 2x
VA =38
racines
2 4

f)=x*+—+—
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f'x) =
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GB
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F(x) =
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Uzo =
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fx) =
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21% — 192

—sin(x — m)

(—6i — 4)(1 — 7i)

P(x)=x*> +7x+5
A =

f(x) = (x* —6x%)(x® + 2x)
f(x) =

—17 + x
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x<-5

F(0; 0)et B(7; 5)
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F(x) =

{uo - _6
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terme général
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fx) =
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—x + 2
_82 ML (—16—x)
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(—8i — 3)(9 — 4i)
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VA =2

racines

f(x) =8x7 —4x + %
f'(x) =
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F(x) =
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terme général
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|z| = 4;arg(z) =

7 =

P(x) = 5x? — 10x
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racines
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fx) =
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—COS(X—'g)
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racines
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9i+4)(9i —4)

P(x) = —4x? —2—2x
A =
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f'(x) =
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1z| =
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VA =4
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terme général

2
flx) = (Sx10 — 6x° + %)
flx) =




87

52 — 152
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f'(x) =
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terme général

5 1
FG) = (35 + 50~ 6°)
£ =

5




89
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f(x) = (10 vVx — 10x8)(—5 vx — 8x*)
f'(x) =

(10
oy (2x4>

D(8; —19)et G(—16; —2)
DG

f(x) =3sinx +5x” —9sinx
F(x) =

{uo - _3
Un+1 = —10uy
terme général

f(x) =(—4+x'9)3
f'(x) =




920

192

T
CcoS (— ~+ x)

—g ( 2n>+8' _ ( Zn)
Zz = 8cos 3 [ sin 3

P(x) =—4x +x% —5

flx) = 8+2x1°—1

f(x)—

y 19x2% — 15x + 7
o2k 19x%2 +9x — 17

6 (5 )eea (o)

4|
1 4
flx) = —2cosx—W+F
F(x) =
{uO == _5
Upi1 = —DUy

terme général

9
fx) = (5x10 —9x7 + %)
f'(x) =
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(-2)(-3)

—COS(X—'g)

(7 + 20)(7 — 20)

P(x)=—-3x% +2—x
A =

f(x) = (3x® — x7)(8x> — 5x19)
f'(x) =

_ 6
lim (—5>
x—-+1 \X

E(7; 24)et G(16; 25)
EG

f(x) = 7x10 — 4x> — 7x°
F(x) =

{uo - 2
Up+1 = —8Uy
terme général

f(x) = cos'®(4x + 2)
flx) =
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8
3

vl ©

cos(x — m)

P(x) =10 — 2x? — 8x
VA =12

racines

P(x) =3x—3x% —2
A =

f(x) = (10x + 6 Vx)(—6x8 + 7x°)
fx) =

lim (—3x° + 10x7 + 10x°)

X—>—00

C(S)etG(_OS)

(g4

fx)=9x3—1+2
F(x) =

{uo - _2
Un1 = —7Uy
terme général

f(x) =sin'®(8x + 3)
f(x) =
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7 7
10 1
sin(—x)

(=7i—4)(5-7i)

P(x) = 2x? — 20 — 6x

VA = 14
racines
4G
fe) = —8x10 + 2x

flx) =

li 4
Jim ()

D(-3; —8)et A(=5; 10)
|AD|

f(x) =10x>—10x3+6
F(x) =

{uo = 4
Up+1 = OUy
U7 =

f(x) = (—4x7 — 4x°> — 8x3)°
fx) =




924

25% — 152

— cos(m — x)

z=-1-+3i
|z| ; arg(z)

P(x)=x% +2x+1
VA=0

racines

—4

_ x3
fo) = —10x + 4vx

flx) =

li 6
lim (5)

A(—=17; 9et G(22; 12)
AG

f(x) =10x3 + x* + 2x
F(x) =

{uo == _1
un+1 == un + 8
U7 =
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18 X 22

—sin(x + m)

(60 + 12)(6i — 12)

P(x) = x?
A=

3 7

f(x)=F+F+x

f'@) =

y 15x% +9x — 19
xooTb —3x%2—-15x +1

G(—13; 6)et D(0; 17)
GD

9
fx) =F+4cosx+9x6
F(x) =

{uo - _10
Upsr = Up — D
terme général

f(x) = (—x8 + 7x% + 2x°)°
fl(x) =
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174
T
— COS (E—x)
z=—-V2-V2i
|z| ; arg(2)

P(x) =4x? +5x—5

-2 10
x° ' x10 T 10 % 10

fO) =X 2

f'(x) =

lim (—
x50 (11x2)

x<0

5(T6 et (557)

BC

flx) = —i—3smx+5x
F(x) =

{uo - _8
Upsr = Up — D
terme général

f(x) = (—=3x10 + 7x%2 — 10x°)8
fl(x) =
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33% — 272

— cos(m + x)

(8 + 5i)(8 — 5)

P(x) =x? — 16

VA =8
racines
—6 5 3
fx) = X7 510 +x10

f'(x) =

lim (8x%® —11x7 + 12x3 + 12x)

X——00

D(—20; —15)et B(—22; 17)
BD

F) = 3x2 >
8 x10
F(x) =
Ug = —9
{un+1 =U, +9

terme général

f(x) = (—9x7 — 10x3 — 10x8)°
flx) =
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5% — 152

—cos(x — m)

z=—V2i—-2
|z| ; arg(z)

P(x) = 8x + 2x?
VA=8

racines

f(x) = (7x8 + 10x8)(5x* + 10x°)
fx) =

lim (6x* — 6x%+ 7x —5)

X—+00

61
f)=--3
F(x) =

Uy =0
{un+1 =u, +10

U1 =

f(x) = (—4x10 + 8x3 + x3)*
fl(x) =




99

z=10+1
1z| =

P(x)=x* +3—x
A =

9
—7X+F

_4x3

fx) =
fl(x) =

lim

X——00

( 15x + 11 )
17x2 — 4x — 17

B(ig)etC(Ig)

BC

f(x) =x°—2x%—10cosx
F(x) =

{uo - _2
un+1 - un + 4
U7 =

f(x) = (x8 — 3x10 — 7x2%)°
flx) =







